SoLoTonS,  SeuNG 201y

MAT 126 Midterm 1 Page 2

1. (a) Write the following integral as a limit choosing the sample points to

be the midpoints:
1
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Notice: your answer should not contain symbols z; or Az. Plug all

the formulas in your answer. You don’t need to compute the integral.
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(b) Write the following limit as a definite integral:
. 1 n ;
nll_{lolo - 2; In(Z+ 21,
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n .
Is the Riemann sum %Z In(2 + ) an underestimate, an overestimate
i=1

of this integral or neither one?
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2. (a) Estimate the integral
8
[ f@as
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using the right endpoints with n = 4 for the function whose graph is
shown below.
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(b) Find the exact value of

8
[ faya

using geometry.
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3. Evaluate the following definite integrals:
) 2w

(a) / odduy,  (b) / (3sint — e)dt.
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4. The velocity function (in meters per second) for a particle moving along
a line is given: |
v(t) = —t2 + 4.
Find (a) the displacement and (b) the distance traveled by the particle
during the time interval 0 < ¢ < 5.

Notice: if v(t) changes sign it means that the particle starts moving
in an opposite direction. The displacement is the distance between the
starting and the end points of the particle. The distance traveled is the
total distance traveled by the particle in both directions.
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5. Let

3;4

g(z) = / te? dt

1
Compute the derivative ¢’(x) using the Fundamental Theorem of Cal-
culus.
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